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o Max. Marks :_;éO
i Structions : 1) Answer all the four Sections.
Created by: 2) Section ‘D’is compulsory.

Shivaralliatyal 3) Answer to Section ‘A’ should be written continuously.

Librarian 4) Draw diagrams wherevern
| | 86606 09517 e
ol SECTION - A

- 1. Answer any ten of the following questions in 2
a) State any two public goods.

-3 sentences each :

", T

b) Who are the two exponents of principle of maximum social advantage ?

c) State any two differences between private and publlcf o

o8 P n
~ d) What is Escheats ? S ”-a«ﬁ“e
A= e A
e) Give the meaning of capital levy. i ream oo mest
i =10 SIS0 :mts,

f) Mention the meaning of progressive tax system‘; " wpis®, 9, Aoae ,;',
3 .‘v}\_ 11 C .).-40, ié‘]

' ing of incidence of tax. N
g) Give the meaning of inc e AR )
a, - :'.A_.e- \J‘:‘,\- ~ 4-1.4
h) Which are public works ? N :', e, au‘r?_

= e

i) State any two causes for increase in public expenditure:”
. j) Define productive debt.

y* k) What is burden of public debt ?

' ) Give the meaning of public debt.

‘What do you by deficit financing ?

fntlon any two objectives of fiscal policy.

| (10x2=20)
 the meaning of public expenditure. PIO.




various sources of public revenue.
€ pnneiples of public expenditure.
n the meaning angd types of budget.

SECTION-C
erany two of the following questions -

/hat are the methods of repayment of public debt ? (2x15=30)
SECTION-D

Discuss the types of budget deficits and calculate fiscal deficit from the information
- given below :

,ru.ia) Revenue receipts = ¥ 54,950 crores

b) Capital receipts in the form of recoveries of loans and other
e liabilities = ¥ 5,710 crores
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Time : 3 Hours

Max. Marks : 80

Instructions : 1 ) Write the answers according to the inérructions given.

2) Answers to the questions should be specific.

l. Answer any two of the following in about three pages each.

1) Write an essay on Mahatma Gandhiji with reference to the following :

a) Aims of Education b) Curriculum.

2) Explain the educational principles as propounded by the following educators :
a) Rabindranath Tagore b) Swamy Vivekanand

3) Write an essay on Basaweshwara with reference to the following :
a) Life and works b) Superstitions (2x15=30)
ll. Answer any two of the following in about two pages each.
4) Life and works of Sri Aurobindo.
5) Views of Vivekanand on Mass Education.
6) Viswabharathi _, (2x10=20)
Ill. Answer any four of the following in about one page each. < ~ ,J
7) ldeas of Basaweshwara on women's education.
8) Main characteristics of Basic Education.
9) Educational Principles as suggested by Sri Aurobindo.
10) Views of Vivekanand on female education.
11) Curriculum as suggested by Tagore.

12) Thoughts of Aurobindo on Integrated education. (4x5=20)

P.T.O.

il
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Max Marks 80

WMe the answers accordmg to the mstruct ons given.
2) Answers to the questions should be s

- 2
/ ST, O3 TEN D,
is Constitutlon ? ‘5 ; a-x Sartater w,ar:..' 4%
) ?ﬂﬁm the characteristics of central schools i ‘& ctat, @, RIH ’P;
What is SDMC ? Ry Lo D% e
‘\ b \.\lJi‘r :
Elaborate SABE. :\, Gy ; /:;3
6
: h\ ] :.'““"‘ - ;;G

What is the educational qualification for primary school tea ﬂer -

' Name the article which provides an opportunity for women education.
Who is the MHRD Minister ?

Write two characteristics of a Teacher.

What is special schools ?

‘Write the meaning of Article 351.

Who is the Primary Education Minister for Karnataka ?

2) In which state Murarji Desai schools established ? (10x2=20)

Answer any five of the following in about one page each :
) Write about professional ethics of Teacher.

. The role of local bodies in Education.

- Educational responsibilities of State Government.

5) Write a note on importance of Sainik schools.

(5%5=25)
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(1x15=15)
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ing questions in a word, or a phrase or a sentence each —

( L T
( the doctor advise Nora on her husband’s health ? 1,‘; ———
mueh money did Nora borrow ? /""f Created by:
| i 0| Shivaraj Halyal
Which dance did Helmer want Nova to perform ? = Librarian
6 How many children do the Helmer's have ? J’ 1:‘ |1 86606 09517
7 Whose signature did Nora forge ? \ '-‘,;‘.w‘ —

’wmn 'did Mrs. Lindo’s husband die ?

"Who threatened Nora of revealing her long-retained secrecy 7
Who is treated as doll in the play ?
il (10 x 1 = 10 marks)
swer the following questions in a sentence or two :
, Why did Nora want the money ?
- .2 What made Nora to influence her husband to retain Krogstad in the bank ?

e Q Why did Mrs. Linde marry another ?
' :.-f;‘ g ‘What were the reasons to remove Krogstad from his post ?
Whnt secret did Nora keep with her for long ?
(5 % 2 = 10 marks)
d has cast himself as the hero in the play.” Explain,

Or

“A Doll's House" as a social play.
_ : (10 marks)
Joll's House” represents the feminist attitude.” Elucidate.

Or

(10 marks)




(6% 1= 5 marks)

(6 % 1 =5 marks)

(5 marks)

E an invitation card on the occasion of your friend’s marriage. (5 marks)

' a letter to your friend informing him about the safety and security while staying in a
city. .

(10 marks)



(10 1 = 10 marks)

X Whv were the village girls eager to see Christy * ?

{r,.‘.ﬂ What did Shawn offer to Christy to leave Mayo

"fﬂ_‘ Why did Shawn refuse to stay with Pegeen in the night ?
How could Old Mahon recognise Christy ?

Why was Christy angry on his father ?
(5 x 2 = 10 marks)

g out the theme of the play, “The playboy of the Western World”
Or

Sketch the character of Christy Mahon.
oo (10 marks)

mpemt's life is vividly depicted by J.M. Synge.” Elucidate with reference to the play

Or




2 Beauty.
4 Simple.

. (5% 1= 56 marl
Bewme the following words with correct spellings :— '
1 Neshan. - 2 Wizdom.
3 Bording. 4 Wellcome.
5 Skol.
. (6% 1=5 mar
(a) Prepare an advertisement copy for a two-wheeler or a car. ! (5 mar
(b) Draft an invitation card on the occasion of your friend’s birthday. (5 mar
Write a letter to your friend describing him/her about the special N.S.S. camp attended by yo
f (10 may




Mammum : 80 Marks

= ) Abhijnanasakuntalam
wer the fn]lowmg questions in a word or a phrase or a sentence each —
1 ‘What is the full name of Akaky ?
5, 2 How old was Akaky’s land lady ?
3 Who is called, “A Worldly woman and a German” ?
- How much did the tailor charge for stitching the coat ?
5 What did the police ask Akaky to investigate the case of robbing of overcoat ?

3 Who does the stage director pray for benediction i n Brﬁ]ggd;@';: Bpa
8 :'7' Which river flows near Kanva’s Hermitage ? "fr: :f e \l
2 4 '._" 8 Where did Priyamvada ask the King to rest ? ' £ {l € 0T, §':w :.*;zf-_»-}»:
‘I '-::III - 9 Who is Sarva-Damana ? . 4- : % —-~ '--_:"'h."-':l-?f.‘ .',‘ -
\ ' 10 Where does the play come to its end ? 1 i w':_f “ ‘c""?";n
R ' A LS D JE10% 1= 10 marks)
: |-T " Wnte brief notes on any four of the following :— \\% _;;: >
B T Miichchakatika 2 The Divine' mm ¥
; r'L 3 The Mahabharata. 4 Aristotle’s “Poetics”.
L 5 The Iliad. 6 War and Peace.
e (4 x 5 =20 marks)
. “‘The Overcoat’ depicts the contemporary social and political life.” Explain.
e Or

I

- “Alienation is the main theme of The Overcoat’.” Discuss.

(10 marks)
rite short notes on any two of the following :—

The party. 2 Petrovitch.

Pemn of consequence. 4 Narrative technique.
(2 x 5 =10 marks







.............

ves and children did Okonkwo have ?
_ mamcrop ofOkonkwosvﬂlage 2.

Created by:
- Shivaraj Halyal
m«: adopted Oedipus as their own child ? Librarian

Whem wfts-lfmus killed ? : 86606 09517

(10 % 1 = 10 marks)
~ Write brief notes on any four of the following :—

_‘ 1 The Frogs. 2 The Ramayana.

‘._ )I- et A3 Crime and Pumshment 4 Don Quixote.
5 Thad. 6 The Arabian Nights.
8 Shakuntala.

7 The Divine Comedy. :
(4 % 5 = 20 marks)

:ﬂ"jf . (a) Sketch the character of Unoka.

Or

('b) Sketch the rise and downfall of Okonkwo.
(10 marks)

Wrxte short notes on any two of the following :—

' 1 Tragic end of Ikemefuna. 2 The week of Peace.
3 The white Missionaries. 4 Mbanta, the village.

(2 x 5 = 10 marks)




any two of the following :— [
4 The Messanger from Cornith.
‘ (2 x 5= 10 marks)
o
are classics,” Justify.
i Or
a brief note on T.S. Eliot’s view on Classics.
| o (10 marks)



Max. Marks : 80
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~ The good teachers and the good students work hard. A principle of these is ‘Do
~ your duty well, and leave the result to the God’. But there are many dullars,
‘cowards, selfish, hostiles and imbesils. These practice paralogism before men
rtitude and promptitude. The good persons have an exemplary character.
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4 Indo-Pakistan confiict in 1965. But he wanted these two countries 10 live
ce _,.nelghbours.
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SECTION-D

1€ outline map supplied to you, to mark the following places and write historical
ortance of it.




.....

_ (25(-1|§'$0)}“ 4

(CTalv)

.'_'l ¥
f ot _
2. ePUsE o) SOUTERRLNY SEES 08 A0R,IE FRRITNES) DA
(Zlavp _ .
| a_agdeafcmzzs 200008 RPINTI), QTOO.
TN - W

emoT FTEE, SUBONO. - (10x2=20)

| BB ERPOHS AR HBID



4 000 00 0 O

TN - ¥
Wesozs DESE AT
> (4x5=20)
7. Y, o0,
Created by:
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Librarian
9. &TTZooRs, 86606 09517
10. 53¢ DoT807033.
11. 1333z,
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SECTION-C

lll. Answer any three questions of the following questions in 50 lines each:

| + Role of Rajaram Mohan Roy in the Socio-Religious Reform Movement.
.I I:

v

20) Domestic Policy of Lord Lytton.

]

(4+6=10)




- ‘ 6) S030 e
7 dnemad
| 8) FR0 wodecn

: '. . 9) oow'r 00k WL’
10) ©2T° &oT° HOT°
13 :

1) g3 ror

B 12) Denis @By,

TN - W

(10x2=20)



(x5=20)

50 BIReR50 YYD eugos: |
30— TRI0FE ADTRTEED 090D DL TR BREBITICIT TRYRI) RO

(3%x10=30)
NN - B

7 B Sm30hd NS Hnvay Todass. SR sieid e Sy ason.
(4+6=10)



Max. Marks : 80
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B.A. 2 E) ’_,__:atlpn, AprIlIMay 2014
e Jew Course) (Regular)
KANNADA (Optional) (Paper - II)

ai:# W Formi-6

| Max. Marks : 80
R G Borte 0 SO Mt et

990D @S wrf, SesDBS e o Horgtol Lot

% - i

| R0R0 eovodod 38 308§ Gbr-Rogmaciorieh el wBcinrodS 7 Sdoke. 16

2. ‘3’ peodwon cng ooy Fert 7 HF0k0.

A

. LT
. B as’ 3D ), WLET DBReD ot Fdoben WG DG DE 7 LTOX. 15
e 2IRTOW 23633 BOOD IR0,

eFE=e

5 7?

15

Created by:
Shivaraj Halyal
Librarian
86606 09517




ﬁ.’ﬁgmdw 03RT?
airae:a‘ LRTONPN 3030 LBNATTIOT ?

38 20R BEQ0w> BRGERO?

S 26233 s 3nd ?

RO T ot T FERE Do FosEts?
mﬁﬁ%ﬁgﬁmqﬁ Fe3N WPRRYTE ORBROET?

(1x15=15)




: ﬂ y
b

)
PDLITIOAL SCIENCE (Optional)
~ International Relations (Paper - 1)

Max. Marks : 80

uctions : 1) Answerfive questions.
2) All questions carry equal marks. »
3) Question No. eightis compulsory.

cuss the changing nature of international relations after the end of Cold War.







R -

ster B b lﬁ‘gﬁﬁﬁaﬁmm@ﬁ Aprlvmy 2014
e (Freshers) (Regular)
. POLITICAL SCIENCE (Opt)

“aPer — 11 : Political Process and Institutions in India

- T
B me : 3 Hours Max. Marks : 80

ﬁfﬁh&ﬁns 1) Answer any five questions.

e /f‘ 4 S o e | IO DI evgos0 gll;t_aated_lz;-\l;;I "
. h{“ R e 2) All questions ¢ carry eq::a! marks. Ivaraj y

Librarian
86606 09517

'i B’ o -=‘_;.-<_ ¢ eawa’é’ff@? TR 2087150,
LA Mogsosia, I ‘Question no. 8 is compulsory.
LA > ,-
TA meramanir. P RO a’a’maﬁmﬁa’
BN -~

ﬁ/tfeatures of Parhamentary democracy in India.
zpadeics’ No,ua)eod) RT3 S0, ©F G LMY DI[ORD.

2. “Indiais more Unitary than Federal’. Discuss.

“4PTSY Foods TDENOB B3N FeoD B3 DTSR . WRIFRD.

'_‘.'1_' - 8. Explain the reasons for growth of regional political parties and bringout its role in
~Indian politics.

309,T3688 Tozs3e0) sdirf@ LIPS ToTENTR RO RB) 4T3 TORFITLRO SJYNS
TRGDA) TERORD.

4. Whatis defection ? Explain the political defection in India.
r_; a{@oa’o’ QROTTE ? mdﬁ’t"@m W 030 UBE:%E’O.DESK’D D00,

5, Explam the composition, powers and functions of Election Commission in India.

R rj_zpad’s’d 280T0ITD LO3PENE T3, LRTITNED 3083 TIODF MY, RROXD:







- | 173 ; : ._,,____ 'J.
_Cmnpulsory) (Regular) o
Max. Marks so

tions : 1) Answer all questions subject to internal choice,
2) All questions carry equal marks.

Swerany eight questions of the following in one ortwo sentences each :

(2x8=16)
i) Define social problems.
g m‘n
'ﬁ) Mention two consequences of social dis-organisation.
N
_: iii) What is crime ?
1' - Iv) Write two causes of prostitution.
V) Mention two effects of HIV-AIDS. gL
- Vi) Write two characteristics of terrorism, .-;"li{ ’, dﬁ’::'ff“azv-.
7 Vii) Mention two objectives of terrorism, -; AR ;r;t-;’:-@a“-"
!" viii) What is National Integration » .-;'c'"‘;:fj”_[\__:* 1:53@ E’
A8 ix) Expand ‘POTA’. f{-’{,‘i\ 705098, j,j,
/ol % PN oanamaniE, , %%
- X) Whatis ‘Lokapal’ ? BN i ,:-/’
.__-IIIA ' RN 1,.,) av.c_a" e #
2. Whatis social problems ? Discuss its effects. = (4+12=16)
fc;,‘;' OR
~ Define social dis organization and explain its causes (4+12=16)
atis crime ? Explain its effects (4+12=16)
OR
ain the preventive programmes of crime 16
'P.Tigl

= L, e




(4+12=16)

. Discuss its effects. (4+12=16)

TRR G

| Reutid: 1) Foatomd SeenOtTeasr et itaomgatt
E/ZE’ONO

2) @ gg’zfgﬁifzfmw’eoaﬁw

. BINS 36500 R0t FIMYY T303R0m eomd B S8R T 30RO R
b % 3
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) oo 3 eo RT3 DOTTE ?
OTA’ 23080, |
BRI 0BT H
(4+12=16) |

POTTERD 9 30 TOFRRONIR, SF A0,

(4+12=16)
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(4+12= 15]

ciraemomﬁaigt QTORD. - 16
3 0mSeR 9 e S0 3720, (4+12=16)
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. ', s&% 8RR TR e TOFRRONTR) 23237 20, (4+12=16)
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emester B.A. 2 Degree Examination, April/May 2014
< ol (Regular)
Paper - 11 : 6.2 (C) : SOCIOLOGY (Opt.)

Urban Society in India (Elective)

Time : 3 Hours Max. Marks : 80

Instructions : 1) Answerall questions subject to Internal choice.
2) All questions carry equal marks,

1

Answer any eight questions of the following in one or two sentences each :

(2x8=16)
i) State Camilly Roser’s classification of cities.

ii) Define Urbanization.,
iif) Mention any two reasons of over-urbanization. i
Iv) Menion any two Metropolitan cities in Indla
v) Name Mega cities of India. |
vi) Define slum,

vii) State different forms of pollution.
viii) What is Environment pollution ? A
ix) Explain the meaning of Urban Planning. ™.

X) Mention any two Urban Development Programmes.
2. Define Urban Community. Discuss its characteristics. (4+12=16)

OR
Explain the various classifications of cities. 16

3. Define Urbanization. Discuss the factors of rapid Urbanization in India. (4+12=16)
OR

' tterns of Urbanization during last three decades
E E;;pl;m the trends and pa i
i in India.

P.T.O.
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i) 0 BREROHTT ea:3g SNONY SNFe8tamy > 8920.
ii) wdbﬁs’dsaa!ab 32,8, DRD.

ted by:
i) e8¢ Sroe3trE 2Tz aadsarfefdg( 8P20. gli;?\?a raj |.‘|, alyal
iV) RT3 TS SOOI E010. Librarian

AR < i

V) ERUSTOT oro 53 (2y@e* Srio) ety ZR0m0, 22808 DaSE7
Vi) ﬁm@ﬁe@ﬂ@aﬁg{ DR,
Vi) SROFT D05 TFITNII) 894,
- viii) BoR0BROS wosderd ?
* ~ ix) 36 cdeexsad epF S OE0Re.
i .x_) Snopelss & 03ResESaD IR mEdR S8R RYFINI) 392,

A 2. ah’d RS0TIOIEBR) 359, 09,R0 5T iy FAMTS) 233 0. (4+12=16)

& DG TN €8T DTORO. 16
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